wardrobe rails

Barre per armadio Barras para armario

Barres pour armoires Vardes de roupeiro
Drazki do szaf Schrankstangen

emuca®

furniture fittings solutions




furniture
fittings
solutions

emuca.com



emuca

Index

Rails kits
Luxe rail
@28 rail
Silk rail

Others rails



emuca

Silk kit

Silk kit

Aluminium kit

Aluminium kit

g\ cos. @ \ =

0,75m 70701 62 1

Aluminium and plastic

» With semi-hard P.V.C profile to avoid
coathanger noise and scratches.

@\ cos. @ \ @

1,15 m 70700 62 1

Aluminium and plastic

» With semi-hard P.V.C profile to avoid
coathanger noise and scratches.

Fg\ cos. @ \ =

0,75m 70703 62 1

Aluminium and zamak

g\ coo. @ \ =

1,15 m 70702 @62 1

Aluminium and zamak



Steel kit
Steel kit
228 kit
62
228 kit
62

11 Chrome plated
13 Moka painted
62 Matt anodized

emuca

.:“—':.‘ coo. @ \ =

0,75m 70705 1M 1

Steel and zamak

E‘ Cod. @ ‘ 7

1,15 m 70704 1N 1

Steel and zamak

== cod. @ 7

0,75 m 70707 13 @ 62 1
13 Aluminium and zamak
== cod. @ (=)
1,15 m 70706 13 62 1
13 Aluminium and zamak



emuca‘l wardrobes

06 furniture fittings solutions



emuca

Luxe rectangular rail

e ‘ cod. @ ‘ 7

14 . . |
g2 235m 71008 13 62 10
13 - - -
Aluminium and plastic
le)
N &
]
» With semi-hard P.V.C profile to avoid
coathanger noise and scratches.
Lateral support
20
M6 Cod.
e L) 7
62 = [l 71020 13 25 10
N (2]
Ly Zamak
13
T 8 » M6 x 40 screw included.
emuca®™
= &
i To calculate the measurement of
)] 2 the bar, subtract 10 mm from the
= Il—(lM inter-axis of the end support.
Central support 2
M6
— Cod. ‘ @
62 D i
I 71003 13 25 20
13 ® H © Zamak
©
NS * M6 x 40 screw included.
~N
14,5
0] o
Corner support
cod. @ (=7
62 71002 13 25 20
Zamak
13
* M6 x 40 screw included.
9,25
Tl
g i[PZ*
gl
Lateral support 20
195 Hand cod. @ (=
g M6 \ \ \
62 — Right 71005 25 43 100
N i Left 71004 25 43 100
13 <
e
@ Plastic
~ emucs® 0
» 1 q ©|
— H + M6 x 40 screw included.
Ik
14,5 @ To calculate the measurement
of the rail subtract 11 mm from
of [ B ﬂ the internal width.
e || ®&

. 13 Moka painted 43 Moka plastic
25 Silver painted 62 Matt anodized



eMmuca warrabes

@28 aluminium rail

== cod. @ (7

\ o 235m 60578 13 14 62 73 10
“ Aluminium
‘ | 13 14 73
17,5 Cod. ‘ @

M5
il 79225 13 14 25 73 10
62 . i i i i i
Zamak
5 + M5 x 38 screw included.
) 13 14 73 s 7 @

g ; To calculate the measurement of
% ) the bar, subtract 3 mm from the

~ inter-axis of the end support.

@28 lateral support

@28 lateral support

665

\\
-
]
8
‘ i
30]

175 cod. @ 7
M5 ' ' ' ' '
[ 79197 13 14 25 73 20
62 o
| ‘ 8 Zamak
S ‘J‘[‘
3 + M5 x 38 screw included.
3
13 14 73 527 \J
17,3
}<—>
(-
@28 lateral support
cod. @ (=7
21 ‘

79198 17 21 43 50

Zamak and plastic

35

156 @ To calculate the measurement
of the rail subtract 6 mm from
the internal width.



emuca

Silk rails

L

:“—':‘ cod. @ ‘ (7

62 .5 2,35m 60721 14 62 10
14 : : :
—@} Aluminium and plastic
=
| » With semi-hard P.V.C profile to avoid
Q;// coathanger noise and scratches.
Silk lateral support
cod. @ (7
38 H H H
62 - = 71010 14 25 10
M6 : : :
T Plastic
®
14
e ¢ 2 * M6 x 40 screw included.
|| &
©
15,5 To calculate the measurement of the
rail subtract 7 mm from the internal
;E B width.
": -|L51!= 'y @
o
Silk central support
38 cod. @ )
M6
62 i D12 | os |
A 60031 14 25 20
14 &l Plastic
N~
} o
o
(]
1
2’5 * M6 x 40 screw included.
Silk corner support
M6 Cod.
8 |
o I 0 60032 14 25 20
o m[ Plastic
N
- y
|15,5
30,5
5
o 31 * M6 x 40 screw included.
8
K

. 13 Moka painted 25 Silver painted 73 Titanium painted
14 Black painted 43 Moka plastic 62 Matt anodized



emuca

Aluminium rail

== ‘ Cod.‘ ‘ @

2,35m 62203 62 10
15 39m 62202 62 15
Aluminium
o
(]
Steel rail
s | oo |
235m 70094 1 10
15 Steel
o
(7]
Lateral support
cod. @ 7
07 o4 2 90168 07 25 500
25 | Zamak
N\
™ ©
) @ | ®
T
2 15
19
Direct-mounted support
o1 ) oo @ | (T
90167 07 500
) <‘ i © Zamak
(<) — —
@ d L
T 2 8,5
15
19
Lateral support
2
(Z)‘.) Cod.‘ @
B 40070 07 500
Steel
& e

10




Lateral support

Lateral support

Lateral support

T central support

o7

Central support

Base for central support

07 Nickel plated
11 Chrome plated
62 Matt anodized

44

16

16

16

32

17

25

1L

20

—

[7an\}
&

—

4,3

65
Y

76

30

15,4

20

emuca

Cod.. ‘ @
90723 07 500
Zamak

Cod.‘ @
60474 07 25 200
Zamak

Cod.‘ @
71468 07 25 250
Zamak

Cod.‘ @
60026 07 25 300
Zamak

BRI N
30 81203 25 500
Zamak

Cod.‘ @

81204 25 500

Zamak



emuca



furniture
fittings
solutions

emuca.com






